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11.4 Vertical Shifts

X
1) Translatef (x) = —5x + 2, vertically 7 units 2) Translate f(x) = G) + 9, vertically -7 units
New equation: New equation:
Y-intercept: Y-intercept:

X

3) Translatef (x) = 4x + 1, vertically -8 units 4) Translate f(x) = (g) — 6, vertically -11 units
New equation: New equation:
Y-intercept: Y-intercept:
5) Translate f(x) = —gx + 5, vertically 2 units 6) Translate f(x) = —3* + 5, vertically 5 units
New equation: New equation:
Y-intercept: Y-intercept:

Draw a sketch of the functions below:
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8) Translate f(x) = — %x + 5, vertically — 3 units 9) Translate f(x) = 3* + 1, vertically 2 units
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10) Translate f(x) = %x, vertically — 4 units 11) Translate f(x) = 2* — 3, vertically 2 units
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Review:
12) If f(x) = —2x + 4, find f(5). 13) If f(x) = 6x — 2, find f(—3).

14)If f(x) = —2x + 4, and g(x) = 5x — 2, find g(f(—Z)).



